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VF(z)-z'(t) =0

O000VF(z)000 2()00000000000000

00 F=0000 (a,b¢)00000000000000000 (2(t),y(t),2(4) 00000000
2(0) =a,y(0)=b,2(0)=c0000000000 n 00000000000 £(0)00000000
00000000RO00 F=00000000000000000000«4(0)000000000
0 VFOOOOOOOOOOOOO n=VF(e)0OOO
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002184 (I 00) 00 F(z,y,2)=000 (a,b,c) 00000000 tangent planel] O
Fy(a,b,c)(x —a) + Fy(a,b,c)(y — b) + F.(a,b,c)(z —c) =0
gobodbooooboobooooo
VF(a) (x—a)=0
gogd

002185 00) 000 z= f(z,y) 00 (a,0) 000000000 F(z,y,2) = f(z,y) —2=000
D00000000000F, =f,.Fy=f,F.=-100000

fz(a,b)(x —a) + fy(a,b)(y —b) — (2 — f(a,b)) =0
0ooo00oon
z = f(a,b) + fa(a,b)(z — a) + fy(a,b)(y — b)
0000000000000 f(z,y) 00 (e,b) 00000000000 100000000
02186 (000) O Fa,y,2) =22 +3?>+22—-1=000 (20,90,20) 000000000000
Fy =2z, F,=2y, F,=2z Fy(x0,y0,20)=2v0, Fy,(x0,%0,20)=2y0, F:(z0,v0,20)= 220
ooooooog

Fy (%0, Y0, 20)(x — 20) + Fy(x0, Yo, 20) (¥ — Yo) + F=(z0,Y0, 20)(2 — 20) =0
= 2xo(z — x0) + 2yo(z — yo) + 220(x — 20) =0
= x0m+yoy+zoz—(a:%+y§+z2):0 = xzox+ Yoy + 20z =1

T
DDDDDDDDDDDD[@ Y %}DDDDDDD

02187 (000) 00 22+3zy—2yz+22+22=1100 (2,1,-1)0000000000000000
gbbobobobooboooo

F(x,y,z):x2+3wy—2yz+aﬁz+22—11:0
ooogoo

F,=2rx+3y+z2 F,=3r-22 F,=-2y+x+2z,
F.(2,1,-1)=6, F,(2,1,-1)=8, F.(2,1,-1)=-2,

gooooan

6(r—2)+8y—1)—2(z+1)=0 = 3zr+4dy—2z=11

T
gbooboooooon [3 4 —1} goooooooogog

T z

0000000 200y00-0000000000 2=11/3,y=11/4,2=-110000

M,’:“@
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02188(000) 00
F(ﬂfvyaz):$2+3$y—2?/2+$2+22—320
00 (2,0,-1)000000000000000

Fp=2x+3y+z2 Fy=3rx—-22 F,=-2y+x+2z
F.(2,0,—-1) =3, Fy(2,0,-1)=8, F,(2,0,-1) =0,

goboooob

3z —2)+8(y—0)+0(z+1)=0 = 32+8—6=0

T
DDDDDDDDDDD[38 @ 000000000000

ooboobb00y0O00O0bOOo0onDOO .’L'=2,y:%DDDDZUDDDDDDDDDZUDD
gbobodgobood

02189 (000) 00 z= f(z,y) =4a?y+2y* 00 (-1,1) 000000000
fo=8zy+y®, f,=42®+3xy? f(-1,1)=3, fo(-1,1)=-7, f,(-1,1)=1
ooo
2= LD+ LY@ D) + f(-L D) - 1) =3-T@+ 1)+ (y—1)=-Te+y -5
00000000000000000

Tx—y+2z+5=0
T
gddoooooooouooooo [7 -1 1} goooooo

X z
754_%_'_7:1
-5 75" -

Ubooboobob «00y00200000 x:—%,y:5,2:—5DDDD

243 U000 0D OoOOobOoboOoOooboO

d
02190000) 00000000000 y=f(z)0ODOO d—yDDDDD
T

@ 22+y2=1 ) zeV=ysine @) 2> +3zy+4xy’+y>+y=2
@ 22 +3xy+1°2=0 (5) 22 +4x> -3y =0 (6) 2° + 322y +22y% + 33 =4
() z+y=e" (8) log(z? +y?) = 9Tan— 1Y 9) log\/x2+y2 = Tan—1Y

x x

am(é)§+(3ﬁ::umb>m (1) y = 2
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dy d?
D2.191(DDD)DDDDDDDDDDDDy:f(x)DDDDd—y,d—gDDDDD
X X
D 22+ =1 Q@ 2*+2y>2=2 @) 22 +22y+2°=1 @ ¢y —ay>? —2+1=0

5) 224+ 2zy—y> =1

02192 00000000) 00 Flr,y) =00000000 y=f(x)0000O0O0DO0ODO
dy d%y
Hn—= 2 —
()d:c ()(m2

021930 000000000000) 0000 F(r,y) =000000000 P(e,d) 0000000
F(z,y)=000000000 y=f(zx)0z=e¢00000 0000000000000

1) F=a2+y2—-1=0, P(1/2,v/3/2) @) F=2>+xy>-2=0, P(1,1)

B) F=a2®—ay—9y>+y=0, P(1,1) 4 F=2%—day+2°+y=0, P(1,1)

S) F=322 -z +2ry+y—2=0, P(1,2) (6) F=2>-2xy>+2y>=0, P(1,1)

(7) F=2a%—-3y3+22%2y =0, P(1,1)

02194 0) 000000 POOO0DOOODOOOODOOOOO

@D 22 +y2=1, P(xo,m0) @) 23+xy>=2, P(1,1)

B) ?+3zy+4zy® +y2+y=2 P(1,-1) @) 22 —-3zy*+5x+y=0, P(-1,1)
S) 2 +3xy+y°—2x+1=0, P(2,-1) (6) 22> —ay—3+2z2y+y—x=0, P(1,2)
(7 e —x4+y=0, P2,1) 8) ze?¥ —e" +sinnmwy+y =0, P(0,1)

9) zycos(zy) =0, P(w/2,1) (10) cosxz + 2ycoszy +2xcosy =m, P(n/2,0)

9z 0
02195(000) 000000000000 2= f(e,y) 0000 a—z,a—zDDDDD
X

1) 22 4+3zy —2yz +az+22=15 (2) x2+y2+22+2x+2y+22y:0

(3) 3xy — 22%y2? —5yzd —2=0 (4) 322+ 4y> — 522 =20

(5) 33 +4y?2=2*+10 (6) z=2>+4zy+vy> (7) y:%—% ®) (x+y+2z)ev* =1
9) 22 +2y+324+5=1logz (10) z=e"sin(y+2)+1 (11) z =sin(2z + 1) cos(y* + 4)
(12) sinxy + sinyz +sinzz =1 (13) 2* = y*

02196(O000) 000000000000 z= oo —, —,—,——,—=000oa
( ) 2= f@y) Ox’ Oy’ 0x2° 0xdy’ Oy?

1) 22432y —2yz+a2+22=15 @) 2 +22+4ay—2yz2=0 3) 2* =ay

021970 00000000) 00 F(z,y,2)=00000000 2= f(e,y) DODDDO00O000O
(1)% (2)% (3)@ (@ﬂ (5)%

Ox oy Ox? Oxdy Oy?
021980 0000000000000) 0000 F(z,y,2) =000000000 P(a,b,c) 000
0000 Fe,y,2)=00000000 2= f(z,y) 00 (a,0) 000000 (z,y) 000000ODODO
oooo
() F=az+yz—22—4=0, P9,-4,1) ) F=xy’+yz>+2>-2-8=0, P(-3,1,2)

0219 @O 00) 000000 POOO0OOO0OO0OOOOOOOOOO
M 22+ +22=1, P(wo,y0,20) ) 2?+3zy—2yz+2z+22=3, P(2,0,-1)
3) 2= 4m22y+372y3, P(—1,1,3) (&) 22 +y2+22=2, P(2/3,-2v2/3,—/2/3)
x z .
®) o) + ‘Z—Q + 2= 1, P(zo,y0,20) (6) sin(x + my) + cos(my — 2z) =0, P(0,1,7/4)
(7) 22 —2zy4+9° —yz+ 2> -3z =x+y+2 P(2,-1,2)
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244 10000000

00220000) 00 f(x)ODOO 2=e0000000000 2=a+h0000

fla) > fla+h)

0000000 f(2)00 2=e¢0000 f(«)0000000000

fla) < fla+h)
0000000f(z)00 2=e0000 f(¢)000000000000000000000000O0

002201 (0000000) 00 f(x)00 2=e¢000000000f(e)=00000000000
gooboooboog

0000 00 f(x)D0z=e00000z=e¢+h000000000000OOO
flath) = fla) + f'(@h+ 3" @) + O(h?)
ogoooooood
Flath) — () = f/(@h+ 3" @) + O(h?)

0000000000 1000 A>0000 Ah<000000000000000000000000O0
00000000000 fla+h)—f(a)>0000 fla+h)—fla)<00000000000000
0000 10000000000000f()=000000000000000

002202(00000) 00 f()00 2=a00000f(a)=0,f(a)>0000000 f(a)O00
000000f(a)=0, f'(a) <0000000 f(o)00000000000f(e)=0000000
0000

gobodo ooboobooooobo

3 3 2
Dzzmajm)DDf@y:%-Mgwaxmmmmmmmmfmm:x%4m+2:¢u4xx—m:0

00z=1,z=2000000000000002=102=2000000000000000
)

2
"(2)

2

fA+h)=fO)+ fF(h+ iﬁ+0@%:ﬂg-%#+ow%

F@+h) =72+ F@h+ I 20 00 = 1) + 57+ 00?)
0000000000000
ﬂ1+M—fu%:—;ﬂ+OMﬂ<O = f+h)<fQ)
ﬂzﬂ»-ﬂ@:%#+om%>o = f2+h)>f(2)

00000000 f(1)=5/600000f(2)=2/300000000
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02204 (00) 00 fla)=200000f(2)=322=00002=00000000000x=00
gobodgboboooboooboo

ﬂmzfmy+fmm+gm#+-Zfbﬁ+0mﬂzfmywﬁ+0mﬂ

000000000
f(h) = £(0) = h* + O(h*)
000000A>000000000A<00000000000000z=00000000000

02205(00) 00 fz)=2*00000f(z)=4*=00002=000000000002z=00
0o000000000000

F10) 5 F70),5, , fP(0)
+ 5 h* + a3l h® + + 1

f(h) = £(0) + f'(0)n '+ O(h°) = f(0) + h* + O(h°)
000000o0oon
f(h) = f(0)=h*+O(h*) >0 = f(h)> f(0)

0000000000 f(o)=00000000O

245 20000000

002206 00) 00 f(z,y) 000 (a,b) 0000000000 (a+hb+k) 0000

fla,b) > f(a+h,b+ k)
0000000 f(z,y) 00 (a,) 0000 f(a,b) 0000000000

fla,b) < fla+h,b+ k)
O0000000f(x,y) 00 (a,0) 0000 f(e,b) 000000000000 0OODOOODODOOOODOOO
002207 000000) 00 f(e,y) 00 (¢,b) 000000000

fz(a,b) =0, fyla,b) =0

dddddooooooooooooo

0000 O0y=b6000z2=f(z,y) 00000000000 2= f(z,b)0 200000 1000
00000 f(z,y) 00000000 f(z,b) 00000000000 f4(e,b)=00000000000
00 2z=a00000 fy(a,b)=00000

00 2208000000) 00 f(z,y)00 (¢,b) 00000000000000 fu(a,b) =0, fy(a,b) =
0000000 f(z,y) 00 (a,)00000000000000

f(l',y) = f(aa b) + %fwz(aa b)(.%' - a’)Q + fxy(a7 b)(x - a)(y - b) + %fyy(avb)(y - b)2 +-
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00001 000000000000000 2= f(z,y) 0O (a,b)0000000O0DOOODO

z = f(a,b)
gooooooogon
fz(a,b) 0
n=|fy(a,b)| =10
-1 -1

O00D00000 2y000000000
02209000000) 00 fle,y) =22>+4?0000000000000
fo(z,y) =22 =0, fy(z,y)=2y=0
D0000000 (z,9)=(0,00000000000 (0,000000000000 (h,k)ODOO0O
f(h,k) = £(0,0) =R*+k*>0 = f(h,k) > £(0,0)
O0000000000 f(e,y) OO0 £(0,00=00000
02210000000) 00 fleyy) =2+ 0000000000000
folw,y) =42° =0, fy(z,y) =4y° =0
00000000 (z,9)=(0,00000000000 (0,000000000000 (h,k)OD0O00DO
f(hk) — f(0,0)=h*+Kk* >0 = f(hk)> £(0,0)
00000000000 f(z,y) D0DOO £(0,0)=00000
02211(00) 00 f(z,y)=22—9?0000000000000
folz,y) =20 =0, fy(z,y)=-2y=0
00000000 (x,y)=(0,00000000000
f(h, k) = £(0,0) = h* — k*
0000000 (0,000 200000000000 (R,0000000
f(h,0) = £(0,0)=h*>0 = f(h,0)> £(0,0)
0000 f0,0000000000000 (0,000 y00000000000 (0,k)000000
f(0,k) — f(0,0) = —k*<0 = f(0,k) < f(0,0)

ooOoof0,0)00000000000f(0,0)=00000000000000O0O0OOOOODODODOO
U00o0b0ob0obob0ob0ob0obOobUobOobOlsaddle point OO OO
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X

y @

02212(000000) 00 fle,y) =2?+40000000000000
fe=2x=0, fy=3y=0
000000000000 (z,y)=(0,00000000000
f(h, k) — £(0,0) = B> + k3

000000A 0000000000 k>000000k<00000000000000000OO
O000000O0o0Ooof(o,0)=000000000

02213(000000) 00 f(r,y)=2>+y?>-22+4y+100000000000000
fe=2x—-2=0, fy=2y+4=0
000000000000 (x,y)=(1,-2)0000(x,y)=(1,-2)000000000000000
f(L+h,—2+k) = f(1,-2) + k2 + k% + o(p?)
oooooooo
fA+h,—2+k) —f(1,=2)=R*+ k2 +0(p>) >0 = f(l4+h,—24+k) > f(1,-2)
000000 f(1,-2)=500000000
02214000000) 00 f(z,y) =2*+¢y*+32y+20000000000000

fo=322+3y=0, fy=32+3x=0
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O0000100y=—-2200000020000000
z(z®+1)=0
0000000000000000000
(z,y) = (0,0), (-1, -1)

0000 (zy) =(0,00000000000000000

f(h, k) = £(0,0) + 3hk + o(p?)
00000000

f(h, k) — £(0,0) = 3hk 4 o(p*)

0000 h>0,k>0000000k<0,k>0000000000000000000#(0,00=00
0000000y =(-1,-1)000000000000000

f(=14+h,—1+4+k) = f(=1,-1) — 3h? + 3hk — 3k* + 0(p?)
ooooooood

2
ﬂ—1+m—1+ky<ﬂ—L—U:—3((h—k>-+i#)+o@%<o

2
= f(=1+h,—-1+k)<f(-1,-1)
000000 f(-1,-1)=300000000
02215000000) 00 fle,y) =22 -22y+y? —2* - 0000000000000
fe=20-2y—42®=0, f,=-20+2y—4y>=0

00000 10002000000000 4@ +93) =—-4@z+y)@®-2y+y*)=0000000
y=—20000000010000000042(1-2%=0000000z=0,1,-100000000
Dooood

(z,y) = (0,0),(1,-1),(-1,1)
oo0ddooobooooooo 200000o0oooooo
fox =2 —122%  foy = =2, fu, =2 12¢°
000 (x,y) =(0,0000000
Pl K) = F(0,0) = 3 Faal0,0)0% + Fuy (0, 0)hk + 1 f (0,008 +
=h?—2hk+k*+ - =(h—k)?+ -

0000000 A#k0000 f(hk)—f(0,0)>0000000AR=k0000200000000
gbobooboobbooobooboaonbodg

Jeew = =242, fowy =0,  foyy =0, fyyy = —24y,
fx:r;a:x = _245 f:l::z;xy = 07 fmcyy = 0, fa:yyy = 0, fyyyt =24
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O00400000000000
2 2 _244 _244 2 4 4
FUhk) = £(0,0) = B* = 20k + K> + —=ht 4 — ok = (= k)P = (B R

O000R=kE0000f(hk)—f(0,0)<0000000R#k0 A=k000000000000OD0OO
fo,o)0o000000000O0(x,y) =(£1l,¥) 0000000 DODODOO

£l B) = FCELF) = 3 faaGEL TR + foy GEL FVR + o (FLFDR 4 -+

Y
z—wﬂ—wm—5#+““:_5<<h+5>42%#)+.“>0

00000000 f(hk) > f(£1,¥1) 00000 f(+1,F1)=200000000
02216 (000000) 00 f(z,y) =sinh(zy) 0000000000000
fz = ycosh(zy) =0, fy = xcosh(zy) =0
0000 (z,y)=(0,000000000000(2,y)=(0,00000000000000000
f(h, k) = £(0,0) + hk + o(p®)
ogoooooon
F(h.k) = £(0,0) = hk + o(p?)

O00000000ooooof,0)=000000000

246 20 000000O0O0DOODODOODO

00 2217(00) 00 f(z,y) 00000 (a,b) O fula,b) =0, fy(a,b) =00000000 f(a,b) 00
000000000000000000000000

D(a,b) = fuy(a,0)* = fru(a,b) fyy(a,b)

o000

(i) D(a,b) <0, faz(a,b) >00000 f(z,y) 00 (a,b) 00000000

(i) D(a,b) <0, fur(a,b) <00000 f(z,9) 00 (¢,) 00000000

(iii) D(a,b) >00000 f(z,y)00 (e,b) 000000000

(iv) D(a,b)=0000000000000
0000 O (a,b)000 (a+h,b+k) 00000 Af(a,) 0000 fla+k,b+k) 000000000
fula,b) =0, f,(a,b) =000000000000

Af(a,0) = f(a+hb+ k) — F(a,b) = faa(a,b)h +2fay(a,b)hE + fyy(a,b)E + o(p?)

1
=5 (ah? + 2Bhk + 7k%) + o(p?)
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gddoooooooooobooo

a = foz(a,b), B = fayla,d), 7= fyla,b)
O0000Af(a,b)0 A0 20000

2Af(a,b) = ah® + 2(Bk)h + (vk2) + o(p?)
gddoooooooouoon

D = (Bk)* — a(yk*) = K*(6% — ay) = K*D
googooood

D<0, a>0 = Af(a,b)>0 = f(a+hb+k)> f(a,b) = f(a,b)000O0
D<0, a<0 = Af(a,b)<0 = fla+hb+k)<f(a,b) = fla,b)000O0

O0000O0DOOOOO ADDODOO Af(e,b) 000000 DOODOODODODOOOOOOO f(a,b) 00O
oobooOo0ooO0oUoboOokb020000000000DOO0ODOODOOOO

02218(000000) 00 f(r,y) =2*>+4?0000000000000

fz =22 =0, fy=2y=0
0000000ooooo (x,y)=(0,00000000000

for=2>0, foy=0, fyy=2 D= fuo,*~ foafyy=-4<0

00000000 f0,0)=000000000
02219000000) 00 fle,y) =22>+420000000000000

fe=22=0, f,=3"=0
00oo0o0oooooog (ryy)=(0,0000000000O0

faa(z,y) =2, fay(@,y) =0,  fyy(z,y) =6y, D(%y):fzf_fmfyy:_l?y

0000D(0,0)=000000000 PO0O0OOOO0O0O0O0O0OO0OOOO0O0000000CO (0,0)O
Ooooooo (0,k),(0,—k) 000000000 k>0000000000

f(0,k) = f(0,0)=k>*>0 = f(0,k) > f(0,0)
f(0,—k) — f(0,0) = -k* <0 = f(0,—k) < £(0,0)

0000000 (0,0000 y00OOOODOO00O0000000y00000000000000000
f(0,0)=000000000
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40 ~

02220000000) 00 f(z,y)=224+4y?—20+4y+100000000000000
fe=20-2=0, f,=2y+4=0
000000000000 (z,y)=(1,-2)000000000
foo=2>0, foy=0, fyy=2 D= fo,®~ foufyy=-4<0
00000000 f(1,-2)=500000000
02221(000000) 00 flz,y) =2+ +32zy+20000000000000
fo=32>43y =0, fy:3y2+3x:0
00000 100y=-2200000020000000
z(z®+1) =0
0D000000000000000000
(z,y) = (0,0),(-1,-1)
000000000
fea(z,y) =62,  foy(z,y) =3, fy(z,y) =6y, D(x,y) = fo,” = feafyy =9 — 36zy

000000000000000000 (z,y) =(0,000000D(0,0)=9>000 £(0,0)=200
000000000 (z,y) = (—1,-1)0000D(-1,-1) = =27 < 0, feu(—1,-1) = =6 < 0000
f(-1,-1)=300000000
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247 OO00O0OOOOO

0222@000000) 00 Flz,y)=a>+ay+2>—1=00000000 y=f(z)000000
O0y=f(z)00000

0000000000000 0d0D z+2y#00000000y =00000 (x,y) 00000
y=00002x+y=000000000000y=-2¢0 F=00000000O

F(x,—2z) = 2® + 2(—22) +2(—22)> —1=72> =1 =0
O000z=+1//7000000000

=) ()

(z+2y)y + 2z +y) =0

0000y 00000

ooo0o0oOo0ooon
A+2y ) +@+29)y" +2+y)=0
ooo

v (1+2)y +y +2
T+ 2y

0000 (z,y) = (£/V7,F2/V/7) 0000000000 40000000

N ET
000000 f1/V7)=-2//700000 f(-1/v/7)=2//700000000

0+0+2
" +0+ 97
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248 U0ODOOODOO

2 2
02223@00000) 00 g(a:,y):%ijZ—l:ODDDDDDD Flr,y) =22 —y2 00000

00000 g(z,y) =0000000 20000000000 y=¢(z),z=14() 000000000
ooo

d . 4
Yoy =-2=-2 (0ooy#0000),

dr Iy 9y
dﬁ:d/(y):fgl:fgfy (D00 z#£0000)
dy o 4x

00000000000 p(z) = f(x,p(x)), qlx) = f(¥(y),y) DOOODDOOOOO

P (@) = (0 0@) = Folosn) o ) S = fol) + ol )0 (@)
:2x—2y<—3§> :?l‘ (D00 y£0000),
J(y) = jyf(w(y),y) - fx<x,y>j§ + fy(w,y);lz — fole )0 (9) + o)

1
_ x<_9y>_2y:_23y (000 z#0000)
T

0000000000ooooo p'(z)=0,¢(y)=00000000000000000002=0,y=0
00000000 g(zy)=000000000000y=+2,z=4300000000000000

(z,y) = (0,%£2), (£3,0)

goboobooobooboooobooboooboonboo

2
P//(l‘):czvzf(%s@(li)):;n(?z) :%6>0 (000 y£0000),

2
') = 32w = 1 (~3) = -5 <0 (@00 z#0000)

00000000(z,y) =(0,42)00002=000000 plz)0000

goo

000000 f(£3,0)0=900000000

02224 @C00000) 00 g(x,y):xQ—yZ—leDDDDDDD flz,y) =2 +y000000

0000 g(z,y) =00000000000 y=¢(x 0000000000

dy / Gz 4
dx SD() gy Yy ( )
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00000000000 p(z) = f(z,e(z) 00000 y£0000

(@) = o pl@)) = Fola) G+ ) 3 = Faloan) + fyfa e @) = 302+

0000000000 p(z)=00000000000000

4x 4
302y +4r =0 = y=-——p=—"
Ty +aw y 32 3x
0000000 g(z,y) =00000000
924 — 922 4+4=0
O000z22=X0000

(3X —4)(3X +1) =0

2
obbodbzs=+—=000000000000000000

V3

- (5-3) (53
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1 9 3 1 . U 9 3 T | a‘x x T oy
= — — — 2 = — = — — = —
2/0 (a*x ZL‘)d:E|:0+2SID 9}0 4/0 (a*x — x7) dx R 1, 6%
gooon

353 0000000000
0331(0000000000)00 DO 20y000000000000000C0
D={(z,y) | 0<zx<1,0<y<z}, D={(ry)|0<y<1,0<x<y}

gbobooboooboboobooobooboon

I://Dﬂx,y)dxdy:/Olda:/;dyﬂx,y):/(Jldy/yldxﬂx,y)

gooonf

y B ER
x=0 x=1 =X

B R
y
~ /

B fRy=1

94



0332@O000000000) 00  DOz0y00O0O0OO0OO0ODOOOOOODOOO
D={(z,y) | 0<z<1,2’<y<z}, D={(2,9)| 0<y<1, y<z<y}

gbooboooboooobooboooooboon

goood

03330000000000) 00
D={(z,y) | 0<y<4,y—2<z<,y}
0y0000000000O00020000000000000000

D = Dy + Do,
Di={(z,y)| 2<2<0,0<y<z+2},
Dy={(2,y) | 0<2<2 2*<y<az+2}

gbobogbooo

/O4dy/yff(l',y)dl':/_Zd$/0x+2f($,y)dy+/O2dl‘/xj+2f(m,y)dy

gooobaon

(y000000000 (000000000

95



36 DO00ODOOOOODOODOODOODOODODOD

03x4@uooo)oopoo pb@we2000000000O0G)yODOODOODOODOODOO

O000G), ) 00000000000 00000000000ad
1) // dxdy (2) // x2yd:vdy
D D
y | B E®  E®

x=0 x=1 y=X
< \ |
Effy=1

Eﬁ)’:O D

033s@uou)coooooooooog

¢)) // (2—x+4+y)dxdy (2) // ye™dxdy (3) // 2ydedy  (4) // (23 — 3zy) dzdy
D Do D3 Dy
y

0336 000) 00000O0b00o0oooooooooan.
(8)) //(x2+y2+1)dxdy,D—{(:c,y)|0§:c§1,x§y§2a:}
D

@ [[ Zaety.0={ @y 1<y<20<0<0)
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4 ///nydedydz’D:{(w’y’z)‘0<$<1a0<y<1—x,0<z<2_y}
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O000000000Az, Ay0OO0OD0O0OO0O0000O0O0Aw, AvOOO0ODODOOOOOODBOODODOOO

T+ Ar = ¢(ua U) + ¢u(u7v)Au + ¢U(U7U)AU R
y+ Ay = ¢(u,0) + Yulu, v) Au + ¢y (u, 0)Av + - --

00000z =¢(u,v),y =) 00000000000

x d)u(ua U) va(ua U)
Aze, + Aye, = = Au + Av + - = Auey + Ave, +
Y Ay o (u,v) v (U, )
goooogoooogogoo
ey, = ¢u(uyv) ’ e, = ¢v(u7v)
¢U(U7U ¢v(uvv)



00 (w,v) D000 wwO0O0O0O0O0O0D0O0OO

000 A(x,y), B(x+Az,y), C(z,y+Ay), D(z+Az,y+Ay) D0 000000000000 0O0O AS =
AzAy0000000w 000000000 A’(u,v),B’(u—l—Au,v),%,U+Av),%+Au,v+Av)
0000000000000 0000000g AB'C’D’00000A'B = Aue,, A/C' = Ave, 000

> = abs @Eiz;) AuAv

45 = dedy = abs [ 259 qudo
(u,v)

Augy,  Avgy
Aurp,  Avi,

AS = abs (det [Aueu AvevD = abs (

000000 Az, Ay—0000D00C0OCOOOOOOODO

gooog

00347(0000) 10000000000 de=¢/(1)dt00000000000000000 [a,b]
0000000000000000000e>b0000000000000000000000000
dudy = 528|dudy 00000000000000000000000000000

“y

v X

(@ zy OO (b)wv OO

39 DOooooooooon

0348@Ubooooog) oo

//Dm—yfdxdy, D={(e)| le+2y <1 le—y <1}

gooboooogoo

goooooon

100



0000000000 DO (u,0) 0000
E={(wo)]| |ul <1, o[ <1}

00000000 (z,y)— (v,0) 0000000

0000000000
o(z,y)

// r—y dxdy—/€<u+2v—u;v)2 i dudvlz//Ev2 - | |
:3//vdwv—;/l / m;é(/ﬂwg(/lm>:§(évmg<4(m)
RO

00349 0) 0000o0ooDog dS:da;dy:%dudvDDDDDDDDDDD zryOOOO0O0O0O
0000000 dee, dy0D 000000 dS=daedy0 0000000000000 wOO0DOOOOO
oodb du,dv 00000000 g dS:%dudvDDDDDDDDDDuvDDDDDD

Ty, _1 1 o Ty _1 2

Yu EERNE v Yv 3|1
00000 O, Aley), B(ey), Cle,+e,) 0000000000000

_ _ oz, y)\ B 1\ 1

So = abs (det [eu ev]) = abs <8(u,v)) —abs< ) = abs (—3> =3

0000000 abs(z) =|x|0000000 dudv 000000 du,dv000000 OABCODODOO
0000000000 dudvO00O0O dS O

goog

€, =

1
3
1
3

w“ wito
Ju

dS = Sy dudv = %dudv
pgooood

g3so@Cuooobooboobo)yob bbb bobo4b0b0bO0ObObObOOOO

101



1

xt2y=

GO0 DDOOO

00D

OO0 FE

(c)uwv O

GHuwvdO0O0O I

exzyOooo I

310 JOonooooooo

o3s1(cooooooog) oooo

2§a2} (a>0)

y) | 2°+y

)

D:{(x

(2% + y?) dady,

1),

gbooooooooo

rsin 6

y:

T =rcosb,

102



gbooboboboboboobobobooobo

Yr Yo

cos —rsinf

sinf rcos6

000000 DO (ne) 00000

E={(r0)| 0<r<a0<6<2rn}
gopboobobooo

// 22 + y?) dudy = // ((rcos)? + (rsin6)?) g(f 0))‘ drde—//Er?'drde
o 27 2m
= [ ae= ([T ([ rar) = [o], <[5, -5

O0352{@00000) 0000 00000 000000000 dS=daxdy=rdrdd0000
O00xy0O00000D00D0dz0 dyOO0O0O00O0O0O00O0O0- 000000000 dr0 rdé OO
Or0dde000D0O00O0DOOOODOOODOOOOO

gooog

03s3(@uoooonoon)y b pd 000000 obooboooonoonogonDg

I—/dw/ y (2% + %)

gboooooo

(b)yro 00 ()00 E

103



AN

Wt

T

A

ittt

===—=====
====—====
===H=—

bl

Y NN
Fﬂﬁﬁﬂfﬁﬁffﬁ’ﬁﬁﬁﬁﬁﬁf
aﬁﬁfaﬁa
55—5—5—5—5—55—
5——5’5—5—5—4— 5——5——5—5—5
——5—5‘—5— ———5——5——
545——5—5—5——5—
——————5————————5
——————————————————
=======

A
———5——5——5—5——5—5
———5——————————————
——————————————————————————
———————=======—====
——————===—============
========
========—=====—
===—======
=======

iy
it

fﬁﬁﬁﬁfﬁﬁ’ﬁ—
ATANY

ALY

======
———————J

ro0noo I

@zy0DODO I

311 3
0000000000
O

0 3.54
. 0
ooo

(a > 0)

D=
{ @ y,2) | 22+
y 42" <a’}

I:/// )
D($ +y2+22)dl‘dyd
Z’

g
oooooooon

Yy = T’Sinesin(p

a:: M
TSln@COS(P
Y

Oo0ono
Oogo
Oogog
ofoo

ooo

Oogo

OoonO

HEREN

2
r“sin 6

—rsin @ sin o
rsin @ cos 0
0

rcos @ sin 0
—rsin6

sinf c

O

" S @ rcosfc

lnesiHSO OSSQ
cos 6

|

Te Ty
Yo
Zp

Yo
20

:1:7"
det |y,
ZT'

Oogo
Oogog
00 DO (r,6,0)000
00

)

8(.737 Y, Z)
(r.0.¢

0

g
oooooooon

drdydz = 12 si
sin 6 drdfdy

SQOSQT['}

0

)

0<o6<m

0
| 0<r<a,

)
I
/0 d¢/() Singd@/ar‘*dy« _
[ rtdr =

{(r.0,¢

E=

g
oooooooog

7.2 si
in 0 drdfde

T COS 9)2)

(

T Sin 0 Sin ¢)2 +

7 sin 6 cos @2 +(

((

+ 2
o + 22) dadydz

x2

(

1,

/27r
0

(

sin 6 drdfdy

7“4

1l

21

47'['a5
)

|

o
)

ooono

104



g3ss@uboooooono)y/ooogoboooobooooogonDg

a VaZ—a? Va2—a2—y?
I—///(x2+y2+22)d$dyd2—/ dx/ dy/ dz (2% + 9 + 2%)
D o Sy T 2

A

/
~r mTT
“ (x,y,2)
/*;x2+y2=rsin 0
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:/ (—cos2t—c0s22t+00532t)dt:/ ~ — —cos2t — - cos4t — ~ cos2tsin® 2t | dt
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(2)}[3:;/ dr+2%ydy,C: 000000000000
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(10) Qfxdy—ydx,C:C&—}—Cg,C’l:DDDDDDDD 2000000000O0O0OC,:O0000
C
ugbbdgebobbgooogoaoo

Oo3m@Eoooooooooo) obogbo coocogoooo pgoo so

1
Sz%xdyz—%ydwz%xdy—ydw
c c 2 Je

goooooooooooooooooooooooOooocoooooooooOoooooo

1
03n@ooooboogooo) ooob coooboboooobo pooo SDS(D):2j{ rxdy —ydx
oD

ooooood
(H) Dooooo C:{(x,y)|a::acos3t,y:asin3t,0§t§27r}
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(1,2)
(2) (322%y — 9 + 2z) dz + (23 — 2zy + v°) dy
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